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BONDAIO. APD 8 350 0 x zzipﬂ SEFBEOES Farsd 850

SO DEVS T ha30 TINEY N6 V'L,
|

=

Question:

|

L. =,

I

|

|
Topic: Physics-Section B
Item No: 57
Question ID: 11694057

Question Type:

Numeric Answer

0.9 kg |C5e95T°RR) 2365000 2.8 § €323 Da3r0e88 (200 A 5000

DBBE HEF TTHE BIODNS TN O, &2 (965503 TS (250%
23TPC5 50300300 CNOTY 8 da I 2.8 VIS (9033077 124 g D T

Question: x
AODDY D BO DD A, 0D HODIE EcHendd. A—‘ e O3}
2
DN )E i@wénﬁﬁ. o B0E), Dewsd .
Topic: Physics-Section B
Item No: 58
Question ID: 11694058

Question Type:

Numeric Answer

60 cm 22023230 15 em o000 AN 2.8 et eeridACho 9
(BT A% 25 x 10° Nm™2) 3 18.0 x 10* N rden 220

Question: |« SPAOSGSE. |B0B DS TE HAODDS D 231 T,
@“cﬁtﬁ@r‘\'}aﬁl} L

Topic: Physics-Section B

Item No: 59

Question ID: 11694059

Question Type:

Numeric Answer




F=(12t - 32) N 2050 809000 (DBFA0THE 569 1.5 m
a2eTr Qe300 EONS TH 0 TR @08 2300 THEYT 3 XHTS) . (t
EDHOS FODGT). (25089 @F 30 Do Q) By

Question:
230565 £ 27530850 4.5 kg m?. £H(E30300 TI0E) (236089306 HOWE eodd
55T OFL STTVEOT S00CH % e@0NS, K e .

Topic: Physics-Section B

Item No: 60

Question ID: 11694060

Question Type:

Numeric Answer

m (D357 (50 2088 QeNYT E DGR, 2 m |Bd 5007 11
SHBTDOE) 208 AENS) T8 q Feacind® DOBBIE. Tock

Question: 2065000 PO DT OO0 €3] QIC0 e BO SF0AS e
DB - oSS x Tvgy Dewd
Topic: Chemistry-Section A
Item No: 61
Question ID: 11694061
Question Type: | MCQ
250 g De3 D-IFES (900 10.8% 270758 8IS &9 6. |T%5690
Question: TEy Irerdel Jes?
(8a3°ed 23°Tew : H,1:C.12:0,16)
A 103
B: 2.06
C: 3.09
D: 5.40
Topic: Chemistry-Section A
Item No: 62
Question ID: 11694062
Question Type: | MCQ

Question:

&2 18065 TOH edGaen @ sai3 0.

Dad8ea 1 : @CHRTHOeH 3 (0 & 585 0,. Cul™, Fei™ eardorr
3500020T0N DO ST 06 B (HSOIS o0 08E60D
28T,

DB 11 : e9CDATY 0 T (5 $95BVE OFS NaCl H,0 €0 2©aradorr

DA 0BEB0N TN,
2 DeIBEAC) esTPBOTT, e9¢h20es DD 2363722003 OTHT .




A aJod 0D 1 a0 3B I OOTIcda).

B: TOCD sdG£e0 I DO I DO o).

C: DG T HOTHIA Q) Ded5ed I DOTGED TE.
D: 0038 T DOTDAD T TR oS IT QOTDAE.
Topic: Chemistry-Section A

Item No: 63

Question ID: 11694063

Question Type:

MCQ

180 BOoth DG W 5DADD. 2,563 DBYedadm A SHAG Bocss
TR SPEE9D R T PO |
DB)edImw A: IFF S 25 0387 ¥8 OBOHO 25 @863 48§

Question: 0500 &,
SPBER 5D R: 2.8 &85 1506T &) e30)er® 38 Hdsren dowg o0
TED D0,
) DeIGEE e3rBOMF, eeds06ed DA 230722000 ) OTNTNIW.
A: A DO R @0 A8QDHAQD QOS5 R e0cdcd® A G0E) 8N adadea.
B: A DO R 20 QO3 57 R 2200000 A T30E) OO DadBed
' LAV
A Q8D 52 R DOTDAIE 5°¢.
A QBTHAA 59N 550 R 003D,
Topic: Chemistry-Section A
Iltem No: 64
Question ID: 11694064

Question Type:

MCQ

180¢ TO DSIBEIEN NI FRDD. 2,563 DB A HOASD BOCssd
PR S8 R T FDOTTD |
DRSS A: B8 t°0 §S 20 CH, F0T S0, QF0)D

Question: IR A INVIN TV OTA Y
5288050 R: 650265 Q0O &aF|1ied aroineyen &8s b §S B
& 25T @O NONDBTTON. .
) DI earPBOMT, eedroed OB 2300722060 OTVEIN.

A: A DO R 20 0D QOS° R e0cdad® A G30E) 8N adardea.

ADNBCIM R 20 G0N0 570 R @000 A O30E) 0D sdedded
SeC.

4 OOTHSO T R SO 520

A DBTDIE 59 50 R HOTHIO.




Topic:

Chemistry-Section A

Item No: 65
Question ID: 11694065
Question Type: | MCQ

2T NPO |TTPHO A TRNEY 2% 230 TS 27511256389 D90

Question: 2P NAO | TPVH0 B TR0E), 8% 230 T30S 2185630 a8
23T703e300. A SDOC5N B € @E02PTE) o268 D000 )E?

A: M.‘—‘L = —1MB

C: M.‘—‘L = BMB

D: MB — SMA

Topic: Chemistry-Section A

Item No: 66

Question ID: 11694066

Question Type: | MCQ

Question: QBN DB STRAE DQ?

A: K 30¢5¢3 e00HAEEE Dorre))), Na OO Li 0T €850),45.

B: 083 550765 INCHES @ADAEBN Do) Xe & . T 1Y Be.

c. OEDNOWE 37 (O SNTOESD DNES aDHAES JoTrd)), endoR:
' 38 1) SNTEESD EOT 550709

O Ga D0CE3 @ANDESS DO ). N0 30 K> d-278 Sure>ESne
' 0T D803

Topic: Chemistry-Section A

Item No: 67

Question ID: | 11694067

Question Type: | MCQ




1B0A 73 &) DD, DT ST FEIS0H SHTEA0TIH?

A. HORE D08 800

B. 2500258580
Question: C. DV FBA0
D. AS&000
E. Q5500
B0 @I 5208 DD 5 HBoNS AR ) Fod.:
A: B.D S5 an
B: A.B.D. E 57530
C: B.D.E S5 gba0
D: A. C.E 373
Topic: Chemistry-Section A
Item No: 68
Question ID: 11694068
Question Type: | MCQ

&2 18005 BOD DadBeaen @ed 5205500,
DISR I TFEBS HOPSIG. 350 O 5 Bodd Venered

Question: €38 15569 SEEOMP DA TR0,
De38Ea II: 298 K 58 3B DTBIE 20568 D,0 E0T) 550769
2 DIBEAE) eSTIGOTT, e0¢b50es S A 236772005 DOTNT .

A oo O£ T a0OCIN 0B I OOTIed0).

B: DO DSGEIEN T OGN I HOTD 5°%3).

C: 0)od 0D I QOCDAED T 0dodBEd IT OO F°C.

D: DG T HOTDIA 52 T°Q DeSEea I HOTDSA.

Topic: Chemistry-Section A

Item No: 69

Question ID: 11694069

Question Type: | MCQ




&2 1806 DO Q3800 Qe fai3 0w,
D382 1: Be 000 Al © SBDE o6 Cl-aS DU2£2:30 G0N0
S0OG5N BO 58I (IS EMHEraw. HB0D eron TN

Question: Q) T ON.
DSBEI I : Be DO Al © IFITEIR o0 @0HE THE0S £60 BOSBE
SO0 N FNTET OO [NOW.
2 D356 esTPBOTE. 96b£06d D 238723060 DOTHT .
A: o389 T 20D0CN 3B IT DO,
B: DO 38820 1080 II DBQDAD Soo)).
C: 0)odBED I DO 5°) Deded IT OV 5°CN.
D: 0JodBED I DO 52D TR oG IT QBT
Topic: Chemistry-Section A
Item No: 70
Question ID: 11694070

Question Type:

MCQ

180G ) FIIGR €5 @350 Q) SN artgere, eoehs O

R e
A: 2EFOIBR e3D3W

B: rFarar )08 eseedn

C: 2 )08 esa0a50

D: DT )08 esea5m

Topic: Chemistry-Section A

Item No: 71

Question ID: | 11694071

Question Type:

MCQ

Question:

&2 (8005 Boh DadBeaen @ed 5225500,

DB : T 0 I, P @38 1500190 D:0Geh, 088 (1) SIB 1S5S0,
30885 K,Cr,07 s00050 €30 KMnO, &6 & 550|850 Ser¢5.
DG I : STOHRE] @AITS B0 DT 0N 065 52790 Ee¢ SO0
pr—pr 050 S 0ENoA.

2) DedBEe esrBOMP. 0685065 31D A 238722060 ) OTVE NN,

o859 I 200G D388 I HOTDAR.

DO o820 T 080 II QBTN o).

DS T HOTHOO 5°Q DeSGea T HOTDIE T,

o 0w >

DS T HOTSO 5 T DG I HOTIE.




Topic:

Chemistry-Section A

Item No: 72
Question ID: 11694072
Question Type: | MCQ

Question: Mn,07 €5°Q Tne85500 Mn=0 057> HOPS IRY?
A: 4

B 5

C: 6

D 3

Topic: Chemistry-Section A

Item No: 73

Question ID: 11694073

Question Type: | MCQ

ORV-IDOV_ U S &3¢ HBI0A.

ON-1

SPeNA S0

On-1I
38

A DT (=500 ppm)

I DEITDA00T

B. I E&( =50 ppm)

3% [T oo hiien

Question: ;
0800
C. 23D (Lead )(=50 ppb) 1L DBSTO D250
D. &FD&(= 2ppm) IV. 0| €b 0T 300
QBT DATHER), ) Sodk:
A: A-IV. B-I. C-II. D-III
B: A-IIL. B-I1. C-IV. D-II
C: A-II. B-IV. C-1. D-III
D: A-II. B-IV. C-III. D-I
Topic: Chemistry-Section A
Item No: 74
Question ID: 11694074
Question Type: | MCQ




180 BO DIBEIEN Red 5RNN. 2,563 DB)ed0 A OO TOed
TR S8 E930 R T AFOTD |

D530 A: [6]e0c:D S, [8] @O, R-[10]e0/05O)S and |83 )-
[10] @35S 0 SEOT e iTesE, arS-eoF53¢38, eo85re3s
SO0 TeS-eo&30°¢3S.

Question: @ © | = % N
11
N N P
[6] Annulene [8] Annulene cis - [10] Antulene
5o8589.300 R: e08:57¢38 o000 29063-e0855¢38 6955300350 SederIed
DBV D0 2.5e3.
2 DeIBIE) esTBOTT, eoeb£0ed CHHB A 2363720065 DOTNTISW.
A A DG R 0 A0THA) Q05° R 29cdcd® A T30E) A0 adeddea.
5 A DO R 20 AO3DM 5% R 2900000 A G308 00T edBEd
' S°C.
A ROTDHAA 32 R OO8DAG 5°¢N.
A Q83D 3¢ 5°A) R 8GR,
Topic: Chemistry-Section A
Item No: 75
Question ID: | 11694075
Question Type: | MCQ
CH,OH

+HCl 25Nl s p

Question:
OH
18523858230 B B2
CH,I
A

OH




CH,I

B:

I

CH,C1
C:

OH

CH,CI
D:

|
Topic: Chemistry-Section A
Item No: 76
Question ID: 11694076
Question Type: | MCQ

Question:

V-1 OV & 236 HEH0E.

ON-1I
OO0

ON-II

aJrede g

A DO SHdain
DO TG DB

I Qare

B. 1.3-2058700r0
BVIale 20S e
Frded

II. J3ers

c.Osd bl FdE
@00 © 7O 270

III. 20050)-S

D 059 nBain Bb s
23000 © o) N0

IV 3|5

QBT DT, Do) Sod:

A-IL B-III. C-IV. D-I

w

A-IL B-III. C-1. D-IV

A-IL. B-I. C-III. D-IV




D: A-TIL B-II. C-IV. D-I
Topic: Chemistry-Section A
Item No: 77

Question ID: 11694077

Question Type: | MCQ

2,8 588 X @D VB ey T AOOESH80 Tod HB s

Question: 0 AN I0E, 9 SETS BFTOISO & t58:6Y EE DDONO SXared
Soth (Bairasmrid) /D)0, BBLE X DO?

A: e 0

B: e B

C: es52 D8 e300

D: §e3T S

Topic: Chemistry-Section A

Item No: 78

Question ID: 11694078

Question Type: | MCQ

Question:




V-1 OV & 236 HEH0E.

OR-II
I odroed &R0
OH IL $9¢3 9538 0% 550 BEW
3D 5RE.
B.
CH; CH,4
Cl
NHNH, 1L 7°0),635 Do 208
O
iICI) v. airod 28
C
N
B NH
s/
7 N\
0 O
QBT DATHFTER), Q) Fod:
A: A-TV. B-IIIL. C-I1. D-I
B: AL B-I. C-I1. D-IV
C: A-IIL B-IV. C-1. D-II
D: AL B-IL. C-IV. D-II
Topic: Chemistry-Section A
Item No: 79

Question ID: 11694079

Question Type: | MCQ

56528 &5 B80T SEANR DABET, 0.45 g © 2.8 B DFS0
Question: 0.36 g © AgBr o @AR0E. Ja0IFH0T R 1IFI 7)) Ec0T308.
(AgBr 37erD (3635073 = 188 g mol~l. Br:80)

A 34.04%




B: 40.04%

C: 36.03%

D: 38.04%

Topic: Chemistry-Section A
Item No: 80

Question ID: 11694080

Question Type: | MCQ

V-1 OV S 23 NS0,

ORI
A BoES HS TS 0B

ORI
I (2508 D80S % HB8,

B. 37D 08 5505308 ©96; | IL esoed 2eT BD (Antisaytzefd)

Question: C. 5DIS S 555 3PSy 20 5650 (Hinsbers
reagent)
D. 5% oD O §0°5r0e30 IV. DFR30TE © SOV 83
{orientation)
QBT DTV, D)) Sod:
A: A-TV, B-IIL. C-II. D-I
B: A-TV. B-IIL. C-I. D-III
C: A-IIL B-IV, C-1. D-1I
D: A-IV. B-III. C-1. D-II
Topic: Chemistry-Section B
Item No: 81
Question ID: 11694081

Question Type:

Numeric Answer

10 mL © Fe?™ {76055 @0FSr0ard)d ess0airdEan e’ 20 mL ©

Question: 0.02 M K,Cr,07 ({35567, a5, Fe™ |fosda250 T30y Soerdel
x 1072M.

Topic: Chemistry-Section B

Item No: 82

Question ID: 11694082

Question Type:

Numeric Answer




2NO + 2H, — N, + 2H,0

2 29828 800°C 58 23BN ©DODN (LIBEY HoS0HODN)

SEoTen 1806 HEES 9:950H9.

Relevvdelileral; H, 3308}, NO mgjéa &) D
608 b0 |ErOoB RBXO|
. /kPa ' ' p]/kPa..s_l
Question: kPa “dt
1 63.6 40.0 0.133
2 63.6 201 0.033
3 386 63.6 0214
4 192 65.6 0.106
NO Q8o 08¢ (1Sr080 .
Topic: Chemistry-Section B
Iltem No: 83
Question ID: 11694083

Question Type:

Numeric Answer

80O ae3eS’ HTONAT)0 & 5270 e e85 © Hows

Question:
Na,0, KO,. NO,, N,0, CiO,, NO, S0,. C/,0
Topic: Chemistry-Section B
Iltem No: 84
Question ID: 11694084

Question Type:

Numeric Answer

D 550 98 2.8 @389 a0 TRE) Irerd G s
20.785 TK lmol L. &2 300 K c00EG 500 K 38550 D O, 90650

Question: 3865 S350 5000 1. VS 5065 967890 HE 5wy Ty IS ©
A0S .
[S508 JPT°0E0] (R 520BA: R =8.314 T K Imol ')

Topic: Chemistry-Section B

Item No: 85

Question ID: 11694085

Question Type:

Numeric Answer

Question:

MO DT00 (D550, 1506 are36° a3 22069 130630 o> 23esoe /
e OIT DOWE .
CN-,NO™, 0,, 0,%, 0,%*




Topic:

Chemistry-Section B

Item No: 86

Question ID: 11694086

Question Type: | Numeric Answer

Question. 310K 5 De3S CaF, |c79e30% 65 2.34 x 107 ¢/100 mL . CaF, B0
. L_CT’&’)S.&}CE’})G:{% 80 x 1078 (mol/L)’.

Topic: Chemistry-Section B

Item No: 87

Question ID: 11694087

Question Type:

Numeric Answer

CoCl3(NH;), al802€> 605 2,8 503 (T3 T Eeb 50

Question: 1:1 DEVEA 5NN E DODOAODIE NS, VFRO TNE), (200
AN

Topic: Chemistry-Section B

Item No: 88

Question ID: 11694088

Question Type: | Numeric Answer

€303 ASPSEOET KMnO,, <0005 €35O8 e3:30°0) e90357050¢Y,

Question:
@083, D0 S BT es8388 How eSS SFE)
Topic: Chemistry-Section B
Item No: 89
Question ID: 11694089

Question Type:

Numeric Answer

)03V T a0[Fe30e30 TINE), (90 6D [2a0EDEH +12.6° DO (+)

Question: P52 ANEY DI (2500 +30°, FD0 90569 HE S
Topic: Chemistry-Section B

Iltem No: 90

Question ID: 11694090

Question Type:

Numeric Answer




Question:

Bod B8z

50.H OH

@ Oleum @ NaOI (eXcess)
H+
nd
II

R0E5¢3 TS5 TBNEY 99D ToEH0 60% OO BOhed tIBA 50%. o0
238 TBE) INBONE 598 FHO %, [0 ST 0ES0]




